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SN SHED
Ho: olFE LYY IE(BBEAMLT /LT - 21L)
SRl U 2RlsY 2 (S @8)

202 OfHI 14,000 13,100 900
01 =G bI 14,000 13,100 900
ogtdze N=EH 14,000
308 X XIEMSOIA 10,000 12,000 22,000
01 AXHMBAEES 10,000 12,000 22,000
Ot LIHSAIE 2E XA 10,000
Hee otdst=2 2d(21) 59,000 59,000 0
= 29,500
L= 29,500
201 29| 31,000 0 31,000
= 15,500
: == 15,500
01 At222teldl 26,000 0 26,000
OMES oAdets =& X3 26,000
= 13,000
& 13,000
03 &AL 5,000 0 5,000
OME ctdet= =& X3 5,000
= 2,500 |
T 2,500
202 0iHl 15,000 0 15,000
= 7,500
= 7,500
01 I 15,000 0 15,000
OMHE §ANEF &3 X3 15,000
= 7,500
S 7,500
301 gBtENaS 3,000 0 3,000
= 1,500
[ 1,500
10 HALAHIBA S 3,000 0 3,000
OMHIE otdEts =& K& 3,000
= 1,500
[ 1,500
308 AXIEHSOIA 10,000 59,000 £49,000
= 5,000
T 5,000
01 XS AEES 10,000 - 59,000 £49,000
OMHIHE ANE=s =&t X3 10,000
= 5,000
[ 5,000
E50| HMAIE &XI(=12) 53,580 53,875 A295
= 53,580
308 XX EHXM SO0 & 53,580 53,875 L2095
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A Uy
= okw
Tt

=SSk

53,580
01 HXEHHILEES 53,580 53,875 2205
OS=0l AHAE &X 53,580
= 53,580
SEASZRHAAERZ(21) 100,000 0 100,000
= 100,000
403 XISt SAH=01A 100,000 0 100,000
= 100,000
01 AXIHHMA2E X 100,000 0 100,000
OSEAEZM ALY 2= 100,000
= 100,000
plgkel AIZZHl SSA(=21) 360,000 542,000 182,000
= 240,000
= 120,000
403 X SHHSXH=01A 360,000 300,000 60,000
= 240,000
. & 120,000
01 AXHHMA=2E X 360,000 300,000 60,000
OFZNG FAZANE &5 360,000
= 240,000
& 120,000
Mol AHEOiHISS 235 58,047,400 50,672,109 7,375,291
= 48,055,000
e 9,992,400
KrATHOH ol X AFMCHHI 14,000 22,300 £8,300
201 Zet=4H 10,000 12,000 £2,000
01 AIR22lbl 10,000 12,000 22,000
OXNATHL D= MZ 10,000
202 04l 4,000 10,300 26,300
01 SOt 4,000 10,300 26,300
OXHMHME N=HH 4,000
OlrsSAlS Moo= =& 57,800 66,200 28,400
201 23| 40,000 50,000 210,000
01 At 22l H| 40,000 50,000 210,000
OMHLIZ0F 2R3 2 40,000
202 OdHl 17,800 16,200 1,600
01 SO 17,800 16,200 1,600
SOHIIoi =AM & =HETF FA 7,800
OMETHHSSLAEES SHXTA 10,000
Mt MelE XA (212) 22,000 18,000 4,000
= 11,000
= 11,000
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201 B2 | 2,000 0 2,000
1,000
1,000

01 AR 2218l 2,000 0 2,000

H A

OMU oAt MeIHEXA &

o

2,000
1,000
1,000
202 0{ | 8,000 5,000 3,000
4,000
4,000
01 2401 8,000 5,000 3,000

OMUHIIGHA A2GHEKY &S 8,000
4,000
4,000
307 Q120 A 12,000 13,000 A1,000
6,000
6,000
12,000 13,000 21,000
12,000
6,000
6,000

Eoi28 It XNJ(SHEEXE) 61,600 52,759 8,841
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308 XX EtM SO0l & 61,600 52,759 8,841
01 IXSHBLEES 61,600 52,759 8,841
OExoll2& JIAXE 61,600

MAHSIEX? =H K(22) _ 41,287,000 36,259,000 5,028,000
36,430,000
4,857,000
403 X SHHEX 201 A 41,287,000 36,259,000 5,028,000
36,430,000
4,857,000
01 IXISHKEEE 41,287,000 36,259,000 5,028,000

OMSHAB KT HH| 41,287,000
36,430,000
4,857,000
NOILRSISRI S HHIAR(2D) 6,845,000 4,140,000 2,705,000
5,704,000
1,141,000
403 XHXISHHIS X201 & \ 6,845,000 4,140,000 2,705,000
5,704,000
1,141,000
01 IXISHH X =R X 6,845,000 4,140,000 2,705,000

ONILASIEXIS HH| 6,845,000
5,704,000
1,141,000

H 1

H1 W

0 A

0

Hn H

H 1
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=HMNFAE EX(31) 340,000 0 340,000
= 300,000
& 40,000
403 XX EHHI S X201 H 340,000 0 340,000
= 300,000
(= 40,000
01 AXEH2ExE 340,000 0 340,000
OR+=RE MAAIE 44X 340,000
= 300,000
< 40,000
STAX SURAEXY FHIALE(=2) 9,420,000 6,910,000 2,510,000
= 5,610,000
= 3,810,000
401 AlEHIZL RO 6,720,000 3,700,000 3,020,000
= 3,360,000
[ 3,360,000
01 A& HI 6,693, 180 3,688,000 3,005, 180
OSZ AKX SURAEXSE Hb| 6.693, 180
= 3,346,590
L= 3,346,590
03 Al& 204 HI 26,820 12,000 14,820
O=3AMX SUREXY FH| 26,820
= 13,410
[ 13,410
403 tXISHHSAHE0IH 2,700,000 3,210,000 £510,000
= 2,250,000
& 450,000
01 HXIEHMA=EE 2,700,000 3,210,000 A510,000
OS3 AKX SRS Hy| 2,700,000
= 2,250,000
= 450,000
StETHoHOlY X HFEHIA X (ZELXN ML /&R 131,508,546 115,505,023 16,003,523
)
= 112,954, 111
< 18,554,435
St & Ho 125,962,031 115,213,623 10,748,408
= 107,804, 111
= 18,157,920
St = |2 1,119,920 1,288,200 £168,280
201 EH29H]| 62,100 69,000 26,900
01 AFR 22l 62,100 69,000 A6,900
ostdzel =8 8,100
oot Zel?IsE 29 9,000
OHAESXI0N2 2B =2 45,000
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17,820

19,800

202 it A1,980
NETTTT 17,820 19,800 A1,980
o5td m2laH = 7,920
OSHHH LAY NEHA 9,900
308 Xt XI RIS O| & 1,000,000 1,150,000 £150,000
02 A+ 1,000,000 1,150,000 £150,000
OBt@AIBE H4DRS 1,000,000
401 NS HIZ S THHI 40,000 49,400 £9,400
01 Al&H] 40,000 49,400 £9,400
ostd EXE FH| 40,000
SIEBYER B4 1,500,000 2,300,000 800,000
401 NS HIZ S THYI 1,500,000 2,300,000 800,000
01 Al 1,500,000 2,300,000 800,000
Odtd HMUEX 24t 1,500,000
A3H@ Ul NR|(21D) 23,939, 111 19,143,728 4,795,383
2 23,699, 111
= 240,000
403 XX SHS X0 23,939, 111 19,143,728 4,795,383
2 23,699, 111
= 240,000
01 IRIEHH =R E 23,939, 111 19,143,728 4,795,383
CENEIR<T:] 23,699, 111
2 23,699, 111
O3 E THI(4%H2) 240,000
SH& Mo (23) 86,087,000 60,741,600 25,345,400
= 70,789,000
= 15,298,000
401 NI HIZ S THHI 20,058,000 14,500,000 5,558,000
2 12,035,000
= 8,023,000
01 Al&H] 19,173,000 13,867,000 5,306,000
OBHa T aH ol 2 19,173,000
2 11,543,000
= 7,630,000
02 22l 820,000 598,000 222,000
LT E, 820,000
2 492,000
= 328,000
03 Al& S THHI 65,000 35,000 30,000
OBHE THaH ol 2t 65,000
403 KX SRS XH0I1 & 66,029,000 46,241,600 19,787,400
2 58,754,000
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T SHEMOHOY X BFHX N X
©el: otE e WA

[
40
o

7,275,000

01 XM =2EE 66,029,000 46,241,600 19,787,400
Odtd Kol ol 66,029,000
= 58,754,000
&= 7,275,000

MESIEZH(S1) 9,000,000 22,011,000 213,011,000
= 9,000,000

403 XM EX=01H 9,000,000 22,011,000 213,011,000
= 9,000,000

01 AXISH=2Ex 9,000,000 22,011,000 213,011,000
OMEicIE =4 9,000,000
= 9,000,000

SIIGHE R XES(=2) 4,316,000 0 4,316,000
= 4,316,000

403 XXM SX=01A 4,316,000 0 4,316,000
= 4,316,000

01 X SH=2EX 4,316,000 0 4,316,000
O=Jlotd RANEs 4,316,000
= 4,316,000

BFEHIY EF Y 5,546,515 291,400 5,255,115
= 5,150,000
T 396,515

CUf 2 Sorsa 16,515 14,400 2,115

201 Eet2&EH| 5,040 5,600 A560

01 AtR 22| 5,040 5,600 2560
OTUg seotelz 5,040

202 ol 11,475 8,800 2,675

01 =UoIH 11,475 8,800 2,675
O UY otz HRFa 7,920
OHAERX ZEIME =A 3,555

2830 ¢ FHIY HH(=31) 4,180,000 277,000 3,903,000
= 3,800,000
= 380,000

403 tXISHMSAH=201& 4,180,000 277,000 3,903,000
= 3,800,000
[ 380,000

01 AXI &M A=ExE 4,180,000 277,000 3,903,000
OStE2d FEHAS FH| 4,180,000
= 3,800,000
[ 380,000

ExXEY A4(21) 1,350,000 0 1,350,000
= 1,350,000

403 XIS SA=201A 1,350,000 0 1,350,000
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N I [=a=5
M StEToioY ¥ SRS N (SELXNIMNL/E=RY)
B gFeExg 28 E

i
40
o

3 M

1,350,000
01 AR SHHAE R X 1,350,000 0 1,350,000
OAFH S4XHE WAHH 1,350,000
= 1,350,000
MHSYAH (LTS YRA)(IIEH/IIEH) 247,213 239,667 7,546
ol 2| 163,897 156,326 7,571
zog oy X 163,897 156,326 7,571
101 Q1248 163,897 156,326 7,571
01 2% 163,897 156,326 7,571
O (TLrarga) 65,559
OANZHAZ P4 9,383R+70AI 262 »128) 47,291
OOF224T 3, 1288 +8AI2H+22 <3652 18,268
04 (ULAALENA) ' 98,338
OANZA224S 9 383857041 202 *128) 70,936
OO0FZF2 24T 3, 1288 *BAI2Hx32 3652 27,402
SR 83,316 83,341 A5
SHeY J1=2| 83,316 83,341 A25
201 Y2 A | » 63,500 64,045 A545
01 AL 22| 62,000 62,545 A545
OSN2Y AR B2 62,000
02 22 2| 1,500 1,500 0
oRAS2Y 229 1,500
202 it 19,816 19,296 520
01 200l 19,816 19,296 520
ORAN2Y =AY 19,816
WeES (UL )(ZDENL A /T - oI 5,707,420 5,212,217 495,203
<)
TEBEE 4,428,492 3,924,067 504,425
THSH CH I 2t 3 4,428,492 3,924,067 504,425
702 J|12NES 4,428,492 3,924,067 504,425
01 JI2FE2 4,428,492 3,924,067 504,425
OMt&e IS 4,428,492
PSPAE 1,278,928 1,288, 150 A9,222
B TH 3 ol 2 937,426 945, 152 AT.726
311 XH 2OIXHA & 937,426 945, 152 AT7.726
06 JIEFXIL 20| A4t st 937,426 945,152 NT,726
©'095H& TN OI L (B2 X 2) 483,672
©' 10t A TN L (22X 2) 453,754
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A SHE YR
B YRES(YMSYDA)(STEHLE /LT - 2Is)

B E8XE (

m
0

S E-E)

oA X2 EH| 341,502 342,998 A1,496

311 Xt S0kttt , 341,502 342,998 21,496

01 Al - =X S X S0l AtHAE 160,000 160,000 0
O'OIMAMHAE KR FH B (X LHNLIS) 160,000

06 JIEtXIE =0l Xt &t & 181,502 182,998 21,49
O©'"10MBHAB X REHI(S3I13) 181,502
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